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Task 1

For barshown below sloulate the displacements, foross, and sreses for each slemant
using FEM ifhe orosssectional area i< 500 mm2 and 250 2, recpectully for
elemant 13042, Given

E1=2106Pa and E2750P3 (5Pa= giga Pascals, Pa=im2)
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Task 2

Now calculate the displaoements, orces, and stesees using standard sati echiquss.
The squations e given below. Compare the values caloulated, why mightthe siesses
ot equal each otherflom both calculations?
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Task 3

Find the displacement function u) and evaluste the displacement at>=10 mm
as5uming Ui=0.1mm,Uj=0.18mm, and UKD 21mm. The displacement i 1.0,
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